1. I Earth has a mean orbital radius ahout the Sun of
1.496 x 10! m and it takes Neprunc 163 years 10
orbit the sun, whai is Ihe mean distance of Nepiune
from the Sun?

2. Artificial satellite X has a fjen'eri of 34.7 davs and
a meun distunce of .28 x 10% km from the center of
the Carth. Find the pediod of axuhual satelitle i’ that

s 7.82 x 10° km from the of the Farth.

3. fthe mooni1s 3.8 x 10% m from the center of the
Larth and is Deuud is 27.33 davs. what otbital radius
must a satellite have if its peried is 1.0 dav?

4 Tf Earth is one astronomical unit of distance from
th Sun and has a period of onc vear, approxims ately
how far i3 Jupiter & from the Sun in astronomical units

i Jupiter has a period of 12 years?

5. An asteroid revolves around the sun with a mean
orbital radius rwice that of Mercurv's. If Mercury has
period of 0.241 ycars and a mean orbital radius of
5.80 x 101Y m. what is the period of the asteroid in
vears!

6. It takes 248 {earth) vears for Pluio to orbit the Sun.
Express Pluto's orbital radius as 2 multiple of Earth's

orbital radius. j
o

7. Lxpress Mercwry's orbiial radius as a muluple of
Earth's orhitai radius given that it takes Mercnry 88.0
days to revolve around the Sun.
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Click Here For Answer

The mean distance of Neptune from the Sun is 4.50 x

: R
10 m.
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The period of sateilite Y is 0.0857 days

Click Here For Answer

The orbital radius of the satellite is 4.2 x 10’ m.

Click Here For Answer

Jupiter is 3.2 astronomical units from the Sun.

Click Here For Answer

The period of the asteroid is 0.682 years.

Click Here For Answer

Pluto's orbital radius 1s 39 SrE,

Click Here For Answe

The orbital radius of Mercury 1s 0.3871¢.



